


•

•

o

o

o

o

•

•

•

•

•

•

o

o

o

o

•

•

•



•

•

•

•

•

•

o

o

o

•

•

•

•

•

•

o

o

o



•

•

•

•

•

•



•

•

•

•

•

•

•

•



•

•

•

•

•

•

•

•











•

•

•

•

•

•

•

•

•

•



•

•

•

•

•

1) Look at the paragraph beginning: 
Glancing nervously…

Find and copy one word meaning      
relatives from a long time ago.

2) The struggle had been between two 
rival families. Which word most closely 
matches the meaning of the word rival?
equal                     neighbouring 
important             competing

3) What was revealed at the end of the 
story? Tick one. 
-Oliver was keeping a secret. 
-The monument was damaged. 
-The two families were still enemies. 
-Maria’s family did not win the throne.



•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•

•









WIK

1x 13       = 13
2x =  26
3x =  39
4x =  52
5x =  65

10x = 130
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